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main.cpp

#include <iostream>

using namespace std;

int main()
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float avg = 3;

int age;

string result Pass = "Pass";

cout << "School:\tUm \n Al-Hirran" << endl;

cout << "Student: \rStu"<< endl;

cout << "Student:\rStu FFFFEEFI\BIbrahim\r*****3zfwan\r\'Alaa\n";
cout << "Average: "<< avg + 4 << "3 " << ;

cout << "\nhAge: "<< age << endl;

cout << "Subject: \"Computer Scilbence\"." << endl;

return 0;
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using namespace std;

int main()
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int intl,
float £
double d;

long double 1 d;
bool bl, b2, B1,
char cl, c2:
int?2 4, d
Bl = 1, B2 =
cout << intl <<
cout f << "\t
cout bl <<
cout cl <<

int2
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return 0;
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cl =

"Wi" << b2 <<
"L << 2 <<
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2345, int3 =

BZ;

string s:;

1d-= false;

J £

, bl = true, b2
, c2 75, 5 = "Suhaib";

"Wt << int2 << "\t" << int3 <<endl;

" oo d << "ZWEM << 1 d << endl;

"M <o Bl << B2 << endl:

"SWt" << 5 << endl;
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Long double
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Chara=‘a’;

intz=1,y;x=3;

int X = 6;
inty =X+1,;

double DOUBLE =2

o @Teacher.Suhaib
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